



St. Louis County, Minnesota

Date of Report: 5/14/2025 11:35:16 AM

General Details									
Parcel ID:	475-0010-01740								
Legal Description Details									
Plat Name:	NEW INDEPEND	NEW INDEPENDENCE							
Section	Town	nship Range Lot I							
11	52	2 17							
Description:	NW 1/4 OF SW 1	1/4 EX 2 25/100 AC FOR HWY							
Taxpayer Details									
Taxpayer Name	DULUTH READY	MIX CONCRETE INC							
and Address:	5671 HWY 53 N								
	SAGINAW MN 5	5779							
Owner Details									
Owner Name DULUTH READY MIX CONCRETE INC									
		Payable 2025 Tax S	ummary						
2025 - Net Tax \$4,957.00									
	2025 - Specia		\$325.00						
2025 - Total Tax & Special Assessments \$5,282.00									
		Current Tax Due (as of	5/13/2025)						
Due May 15 Due Octo			15	Total Due					
2025 - 1st Half Tax	\$2,641.00	2025 - 2nd Half Tax	\$2,641.00	2025 - 1st Half Tax Due	\$2,641.00				
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$2,641.00				
2025 - 1st Half Due	\$2,641.00	2025 - 2nd Half Due	\$2,641.00	2025 - Total Due	\$5,282.00				
Parcel Details									

Property Address: 6764 HWY 53, CANYON MN

School District: 2142 Tax Increment District: Property/Homesteader:

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
234	0 - Non Homestead	\$69,100	\$146,800	\$215,900	\$0	\$0	-		
204	0 - Non Homestead	\$17,400	\$101,600	\$119,000	\$0	\$0	-		
	Total:	\$86,500	\$248,400	\$334,900	\$0	\$0	4758		





St. Louis County, Minnesota

Date of Report: 5/14/2025 11:35:16 AM

Land Details

Deeded Acres: 37.75
Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

=									
S - ON-SITE SANITA	ARY SYSTI	EM							
0.00									
0.00									
ot guaranteed to be surve gov/webPlatsIframe/frmF	ey quality. <i>P</i> latStatPop	Additional lot Up.aspx. If t	information can be here are any quest	e found at ions, please email PropertyTa	ax@stlouiscountymn.gov.				
Improvement 1 Details (RENTAL)									
Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
2012	768 768		-	RAM - RAMBL/RNCH					
Story	Width	Length	Area	Foundati	on				
1	32	24	768	FLOATING	SLAB				
Bedroom Count		Room C	Count	Fireplace Count	HVAC				
2 BEDROOMS		-		0 Ca	AIR_COND, ELECTRIC				
	Improv	ement 2 [Details (SLAB)						
Year Built	-		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
2012	24	0	240	-	PLN - PLAIN SLAB				
Story	Width	Length	Area	Foundati	on				
0	10	24	240	-					
Improvement 2 Details (CLAD)									
· · · · · · · · · · · · · · · · · · ·									
				-	PLN - PLAIN SLAB				
•		_							
			•	,					
				Basement Finish	Style Code & Desc.				
		-		-	-				
•		_							
1	8	10	80	POST ON GF	ROUND				
	Improv	ement 5 [Details (SHOP)						
Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
0	1,76	60	1,760	-	LT - LT UTILITY				
Story	Width	Length	Area	Foundati	on				
1	40	44	1,760	FLOATING	SLAB				
Improvement 6 Details (SCALE)									
Year Built	•		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
0			700	-	-				
Story	Width	Length	Area	Foundati	on				
0	10	70	700						
	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	o.00 ot guaranteed to be survey quality. Additional lot gov/webPlatsIframe/frmPlatStatPopUp.aspx. If t Improvement 1 Decompt	0.00 0.00 0.00 0.00 ot guaranteed to be survey quality. Additional lot information can be gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any quest Improvement 1 Details (RENTAI Pear Built Main Floor Ft 2 Gross Area Ft 2 2012 768 768 768	0.00 0.00 ot guaranteed to be survey quality. Additional lot information can be found at gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTown provement 1 Details (RENTAL) Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish 2012 768 768 - Story Width Length Area Foundati 1 32 24 768 FLOATING: Bedroom Count Room Count Fireplace Count 2 BEDROOMS 0 Co Improvement 2 Details (SLAB) Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish 2012 240 240 - Story Width Length Area Foundati 0 10 24 240 Improvement 3 Details (SLAB) Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish 2012 192 192 - Story Width Length Area Foundati 0 8 24 192 Improvement 4 Details (METAL SHED) Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish 2012 80 80 - Story Width Length Area Foundati 1 8 10 80 POST ON GR Improvement 5 Details (SHOP) Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish 2012 80 80 - Story Width Length Area Foundati 1 8 10 80 POST ON GR Improvement 5 Details (SHOP) Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish 2014 80 1,760 - Story Width Length Area Foundati 1 8 10 80 POST ON GR Improvement 5 Details (SHOP) Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish 0 1,760 1,760 - Story Width Length Area Foundati 1 40 44 1,760 FLOATING: Improvement 6 Details (SCALE) Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish 0 1,760 1,760 FLOATING: Improvement 6 Details (SCALE) Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish 0 700 700 - Story Width Length Area Foundati				





St. Louis County, Minnesota

Date of Report: 5/14/2025 11:35:16 AM

						·			
		Improve	ement 7 De	etails (SCALE)					
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish Style Code 8			ode & Desc	
	0	50	0	500	-				
Segmen	t Story	Width	Length	Area		Foundation			
BAS	0	10	50	500		-			
Improvement 8 Details (SCALE HOUS)									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Bas	Basement Finish Style Code & D			
STORAGE BUILDING	G 0	66	6	66		-			
Segmen	t Story	Width	Length	Area		Foundation			
BAS	1	6	11	66		FLOATING	G SLAB		
		Improveme	ent 9 Detai	ils (8X40 CONI	EX)				
Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & Des									
STORAGE BUILDING	G 0	32	0	320		-		<u>-</u>	
Segmen	t Story	Width	Length	Area		Founda	ation		
BAS	1	8	40	320		POST ON C	GROUND		
Improvement 10 Details (MISC STOR)									
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & De								ode & Des	
STORAGE BUILDING	G 0	32	0	320		-	-		
Segmen	t Story	Width	Length	Area		Foundation		on	
BAS	1	8	40	320		POST ON GROUND			
		Improvem	ent 11 Det	ails (6X10 SHE	ED)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	-	sement Finish	Style C	ode & Desc	
STORAGE BUILDING	G 0	60)	60		-		-	
Segmen	t Story	Width	Length	Area		Foundation			
BAS	1	6	10	60		FLOATING	SLAB		
	Sa	les Reported	to the St.	Louis County	Audito	r			
No Sales informati	on reported.	-							
		As	ssessmen	t History					
	Class					Def	Def		
Voor	Code	Land EMV	Bld		otal MV	Land EMV	Bldg	Net Tax	
Year	(Legend)	\$69,100	\$144,		MV 3,800	EMV	EMV \$0	Capacit	
2024 Payable 2025	204	\$17,400	\$98.3		5,700	\$0	\$0	_	
2024 Payable 2025	Total	\$86,500	\$2 43 ,		9,500	\$0	\$ 0	4,683.0	
								4,003.0	
-	234	\$58,800	\$139,		8,100 5,100	\$0	\$0	-	
2023 Payable 2024	204	\$16,000	\$89,1		5,100	\$0	\$0		
	Total	\$74,800	\$228,	400 \$30	3,200	\$0	\$0	4,263.0	
	234	\$56,400	\$35,5		,900	\$0	\$0	-	
2022 Payable 2023	204	\$14,500	\$70,9	900 \$85	5,400	\$0	\$0	-	
	Total	\$70,900	\$106,	400 \$17	7,300	\$0	\$0	2,233.0	
	234	\$56,400	\$32,4	100 \$88	3,800	\$0	\$0	-	
2021 Payable 2022	204	\$14,500	\$64,7	700 \$79	,200	\$0	\$0	-	

Total

\$70,900

2,124.00

\$0

\$0

\$168,000

\$97,100





St. Louis County, Minnesota

Date of Report: 5/14/2025 11:35:16 AM

Tax Detail History										
Tax Year	Total Tax & Special Special ear Tax Assessments Assessments Taxable Land MV					Total Taxable MV				
2024	\$4,605.00	\$325.00	\$4,930.00	\$74,800	\$228,400	\$303,200				
2023	\$2,452.00	\$240.00	\$2,692.00	\$70,900	\$106,400	\$177,300				
2022	\$2,512.00	\$240.00	\$2,752.00	\$70,900	\$97,100	\$168,000				

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.